Chapter 5 (Discrete Probability Distributions) Homework
Q1. During one summer vacation season, the UK national lottery played a game called the Stocking Stuffer. With this game, total instant winnings of £34.8 million were available in 70 million £1 tickets, with ticket prizes ranging from £1 to £1,000. Shown here are the various prizes and the probability of winning each prize. Use these data to compute the expected value of the game, the variance of the game, and the standard deviation of the game.
Prize (x)                                     Probability p(x)
               £ 1,000                                               .00002

                   100                                                  .00063

                   20                                                    .00400

                   10                                                    .00601

                   4                                                      .02403

                   2                                                       .08877

1 .10479

0 .77175
Q2.  According to French Census Bureau, approximately 6% of all workers in Paris, are unemployed. In conducting aa random telephone survey in Paris, what is the probability of getting two or fewer unemployed workers in the sample of 20?

Q3. The increase or decrease in the price of a stock between the beginning and the end of a trading day is assumed to be an equally likely random event. What is the probability that a stock will show an increase in its closing price on five consecutive days?

Q4. Insurance company customers arrive randomly on weekend afternoons at an average of 3.2 customers every 4 minutes. What is the probability of having more than 7 customers in a 4 minute interval on a weekday afternoon?
Q5. Suppose the probability of a bank making a mistake in processing a deposit is .0003. If 10,000 deposits (n) are audited, what is the probability that more than 6 mistakes were made in processing deposits?
Q6.  Suppose 18 major computer companies operate in the United States and that 12 are located in California’s Silicon Valley. If three computer companies are selected randomly from the entire list, what is the probability that one or more of the selected companies are located in the Silicon Valley?
